Genetics WS B – Dihybrid Cross

· Cross the following, do the Punnett Square and determine the genotype and phenotypes percentages.

Assume:

T = Tall

R = Round
Y = Yellow pod
     G = Green seed
P = Purple flower


t = short

r = wrinkled
y = green pod
     g = yellow seed
p = white flower


























































































































































Heterozygous for Purp. flower & Tallness x


Heterozygous for Purp. flower & Tallness


Genotype %:














Phenotype %:








ttRR x TTrr





Genotype %:














Phenotype %:








YyGg x YYGG





Genotype %:














Phenotype %:








Heterozygous for Round & Yellow pods


x


Wrinkled & Green pods


Genotype %:














Phenotype %:








Homozygous for Round & Yellow pods


x


Wrinkled & Green pods


Genotype %:














Phenotype %:








TTRr x TTRr





Genotype %:














Phenotype %:








